

MC No: 19/11/2020

MC: Maths

Age: 17/18

Name: Adebo, O. Jeremiah

MT Assignment

$$1 \int \frac{11-3x}{x^2+2x-3} dx$$

Solution

$$\begin{array}{l|l} x^2+2x-3 & \frac{11-3x}{x^2+2x-3} = \frac{11-3x}{(x-1)(x+3)} \\ x^2+3x-x-3 & = \frac{A}{x-1} + \frac{B}{x+3} \Rightarrow \frac{A(x+3) + B(x-1)}{(x-1)(x+3)} \\ x(x+3) - 1(x+3) & \\ (x-1)(x+3) & \end{array}$$

$$A(x+3) + B(x-1) = 11-3x$$

$$Ax + 3A + Bx - B = 11-3x$$

$$(A+B)x + (3A-B) = 11-3x$$

(Comparing)  $A+B = -3 \dots \textcircled{1}$

$$3A-B = 11 \dots \textcircled{2}$$

$$4A = 8 \Rightarrow A = 2$$

4 (Put in equation 1)

$$2+B = -3$$

$$B = -3-2 \Rightarrow B = -5$$

We can now write

$$\int \frac{2}{x-1} dx + \int \frac{-5}{x+3} dx = \int \frac{11-3x}{x^2+2x-3}$$

let  $u = x-1$        $u = x+3$

$$du = dx$$

$$du = dx$$

We can now write

$$\int \frac{2}{x-1} dx + \int \frac{-5}{x+3} dx = \int \frac{11-3x}{x^2+2x-3}$$

$$\text{let } u = x-1$$

$$u = x+3$$

$$du = dx$$

$$du = dx$$

$$\Rightarrow \int \frac{2 du}{u}$$

$$\Rightarrow \int \frac{-5 du}{x+3u}$$

$$= 2 \ln u$$

$$\Rightarrow -5 \ln u$$

$$\Rightarrow 2 \ln(x-1) - 5 \ln(x+3) + C$$

2

$$\int \frac{4x-16}{x^2-2x-3} dx$$

Solution

$$\begin{array}{l|l} x^2-2x-3 & \int \frac{4x-16}{x^2-2x-3} dx \Rightarrow \int \frac{4x-16}{(x+1)(x-3)} \\ x^2-3x+x-3 & \\ x(x-3)+1(x-3) & = \frac{A}{x+1} + \frac{B}{x-3} \Rightarrow \frac{A(x-3)+B(x+1)}{(x+1)(x-3)} \\ (x+1)(x-3) & \end{array}$$

$$A(x-3) + B(x+1) = 4x-16$$

$$Ax - 3A + Bx + B = 4x - 16$$

$$(A+B)x + (B-3A) = 4x - 16$$

(Comparing sides)  $B+A = 4 \dots \textcircled{1}$

$$B-3A = -16 \dots \textcircled{2}$$

$$4A = 20 \Rightarrow A = 5$$

$$4, \quad 4, \quad \text{Put in equation (1)}$$

$$B+5=4$$

$$B=4-5 \Rightarrow B=-1$$

We can now write

$$\int \frac{5}{x+1} dx + \int \frac{-1}{x-3} dx = \int \frac{4x-16}{x^2-2x-3} dx$$

$$\text{let } u = x+1$$

$$v = x-3$$

$$du = dx$$

$$dv = dx$$

$$\Rightarrow \int \frac{5 du}{u}$$

$$\Rightarrow \int \frac{-dv}{v}$$

$$\Rightarrow 5 \ln u$$

$$\Rightarrow -\ln v$$

$$\Rightarrow 5 \ln(x+1) - \ln(x-3) + C$$

$$\int \frac{(2x^2 - 9x - 35) dx}{(x+1)(x-2)(x+3)}$$

Solution

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A}{x+1} + \frac{B}{x-2} + \frac{C}{x+3}$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)}{(x+1)(x-2)(x+3)}$$

$$2x^2 - 9x - 35 = A(x^2 + x - 6) + B(x^2 + 4x + 3) + C(x^2 - x - 2)$$

$$2x^2 - 9x - 35 = Ax^2 + Ax - 6A + Bx^2 + 4Bx + 3B + Cx^2 - Cx - 2C$$

$$2x^2 - 9x - 35 = Ax^2 + Bx^2 + Cx^2 + Ax + 4Bx - Cx - 6A + 3B - 2C$$

$$2x^2 - 9x - 35 = (A+B+C)x^2 + (A+4B-C)x + (-6A+3B-2C)$$

(Comparing)  $A+B+C = 2 \dots \textcircled{1}$

$$A+4B-C = -9 \dots \textcircled{2}$$

$$-6A+3B-2C = -35 \dots \textcircled{3}$$

$$A+B+C = 2$$

$$A+4B-C = -9 \quad \textcircled{4}$$

$$-3B+2C = 11, \therefore 3B-2C = -11 \text{ (Rt in equation } \textcircled{3})$$

$$\therefore -6A(-11) = -35$$

$$6A = -35 + 11 = -24, \therefore A = 4$$

$$\therefore 4 + B + C = 2 \Rightarrow B + C = 2 - 4 \Rightarrow B + C = -2$$

$$4 + 4B - C = -9 \Rightarrow 4B - C = -9 - 4 \Rightarrow 4B - C = -13$$

$$+ B + C = -2 \dots \textcircled{5}$$

$$4B - C = -13 \dots \textcircled{6}$$

$$\frac{5B}{5} = \frac{11}{5}, \therefore B = \frac{11}{5} \text{ (put in equation } \textcircled{5})$$

Finally,

$$\frac{11}{5} + C = -2$$

$$C = -2 - \frac{11}{5}$$

$$C = \frac{-10 - 11}{5} \Rightarrow -\frac{21}{5}$$

$$\therefore A = 4, B = \frac{11}{5}, C = -\frac{21}{5}$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{4}{x+1} + \frac{\frac{11}{5}}{x-2} + \frac{-\frac{21}{5}}{x+3}$$

$$\text{let } u = x + 1$$

$$u = x - 2$$

$$u = x + 3$$

$$\text{let } u = x+1$$

$$\frac{du}{dx} du = dx$$

$$\Rightarrow 4 \int \frac{du}{u}$$

$$\Rightarrow 4 \ln u$$

$$u = x-2$$

$$du = dx$$

$$\frac{11}{5} \int \frac{du}{u}$$

$$+ \frac{11}{5} \ln u$$

$$u = x+3$$

$$du = dx$$

$$-\frac{21}{5} \int \frac{du}{u}$$

$$-\frac{21}{5} \ln u$$

$$\Rightarrow 4 \ln(x+1) + \frac{11}{5} \ln(x-2) - \frac{21}{5} \ln(x+3)$$